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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 266 0.8 0.4 1 79.3 100
2 266 0.6 0.5 1 58.3 100
3 266 0.5 0.5 1 46.6 100
4 266 0.8 0.4 1 75.6 100
5 266 1.3 0.7 2 63.5 100

6a 264 1 1.1 4 25.9 99.3
6 b 264 1.4 1.7 4 34.1 99.3
6 c 255 1.6 1.4 6 26.9 95.9

1 a i 265 1.3 0.8 2 66.2 99.6
1 a ii 261 0.5 0.8 2 24.1 98.1
1 b 263 1.9 1.3 6 31.7 98.9
1 c 259 2.1 2.3 10 21.2 97.4
2a 263 2.3 1.3 4 58.7 98.9
2 b 254 2.3 2.1 6 39 95.5
2 c 264 1.3 0.8 2 63.3 99.3
2 d 258 3.1 1.8 8 38.7 97

C 1 a i 146 2 1 4 49.5 54.9
C 1 a ii 146 1.8 1.4 6 29.9 54.9
C 1 b 138 1.3 0.9 2 63.8 51.9
C 1 c 134 2.1 1.9 8 26.8 50.4
C 2 a 146 5.3 2.8 8 65.7 54.9
C2 b i 137 2.1 1.5 6 35.5 51.5
C 2 b i 134 1.9 1.3 6 32.2 50.4
D 1 a i 117 3.2 3.7 8 40.1 44
D 1 a ii 115 0.9 0.7 2 45.2 43.2
D 1 b 119 1.1 0.8 2 52.9 44.7
D 1 c 114 2.5 1.9 8 31.4 42.9
D 2 a 114 1 1.3 4 23.9 42.9

D 2 b i 119 1.6 1.3 4 38.9 44.7
D 2 b ii 119 2.1 1.2 6 35.2 44.7
D 2 c 118 2.4 1.3 6 39.7 44.4

If you are accessing this 
document in a web 
browser and are only 
able to see this single 
page, please download 
the document and re-
open it in Adobe Reader 
in order to fully access 
the exemplar material.
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Question Answer LO AO Mark 


Q.1 (c) Evaluate possible external economies of scale that 
Bright Eyes Ltd could benefit from as a result of 
Specsavers choosing to locate in Sunnybridge. 


0 marks: Nothing worthy of any marks. 


Level 1 (1-3 marks): Answer demonstrates limited 
knowledge of external economies of scale. Limited 
consideration of possible external economies of scale. 
Points not developed. Limited application to Bright Eyes 
and Specsavers. Information is poorly organised. Answer 
conveys meaning but lacks detail. Little of no use of 
specialist vocabulary.   


Level 2 (4-7 marks): Answer demonstrates good 
knowledge and understanding of external economies of 
scale. Good consideration of possible external economies 
of scale. Points are partially developed. Good application 
to Bright Eyes and Specsavers. Information is organised. 
There is good use of specialist terminology.   


Level 3 (8-10 marks): Answer demonstrates excellent 
knowledge and understanding of external economies of 
scale. Excellent consideration of possible external 
economies of scale. Points are fully developed.  Excellent 
application to Bright Eyes and Specsavers. Information is 
very well-organised. Specialist terms are used with ease 
and accuracy. 


Indicative content:  
An external economy of scale is a reduction in cost which 
all organisations in an industry might experience as the 
industry expands.  Specsavers moving to Sunnybridge 
would grow the optician service industry in the locality, 
effecting in Bright Eyes and Specsavers benefiting from 
reductions in costs. 


A labour economy of scale is an external economy of 
scale that optician service providers could benefit from as 
an effect of the industry expansion in the locality. Given 
that Bright Eyes is a long established, so there will a 
readymade labour force with the right knowledge and skill 
to provide an optician service. A local further education 
college may be offering an optician service related course, 
reducing training cost for both Bright Eyes and 
Specsavers. 


A cooperation economy of scale is another such external 
economy of scale that optician service providers could 
benefit from industry expansion in locality. Bright Eyes 
and Specsavers may cooperate with local general 
practitioners and hospitals in providing eye care.   


1 1.4 10 
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Question Answer LO AO Mark 


 A reputation economy of scale is yet another such 
external economy of that optician service providers could 
benefit from industry expansion in Sunnybridge. 
Sunnybridge may become a town associated with 
opticians providing a first-rate service. 
 
On the other hand, an agglomeration economy of scale is 
unlikely to be an external economy of scale that either 
Bright Eyes or Specsavers experience. Agglomeration 
economy of scale tend to happen in urban areas not 
market towns such as Sunnybridge, regardless of how 
busy they are. Since the urban living effect in spill overs.  
 
Accept any other valid point. 
 


   












Q1.


This response demonstrates nothing worthy of any marks, either in terms of content or thinking.  
Clearly, the candidate does not have any knowledge of external economies of scale.












Q.1


The candidate was awarded 2 on the basis that they allude to cooperation 
external economy of scale. The points are far from developed, all the 
same. Hence the level 1 standard.  












Q.1


6



Sticky Note

This response was awarded 6 marks, it being of a level 2 standard.  Clear, direct reference is made to reputation and agglomeration economies of scale, two external economies of scale.  Point have been partially developed, meaning that there is breadth and depth to the evaluation.













Turn over.07


7


© WJEC CBAC Ltd. (4513UD0-1)


45
13


U
D


01
0


7


Recently, Specsavers, another optician which is part of a large, national chain has opened 
a new store in Sunnybridge. It is a direct rival to Bright Eyes Ltd, but being part of a national 
chain, it can charge customers lower prices for their glasses, whilst offering a wider range of 
frames to choose from.


Q.1(c) Evaluate possible external economies of scale that Bright Eyes Ltd could benefit from
as a result of Specsavers choosing to locate in Sunnybridge. [10]












Q.2
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Question Answer LO AO Mark 


Q.2. (a) Identify, from the above information, a possible 
strength, weakness, opportunity and threat (SWOT) to 
Bright Eyes Ltd. 


Award 1 mark for each correct identification of strength, 
weakness, opportunity and threat  


Indicative content: 
Strength: loyal customer-base. 


Weakness: reliant on one customer group, in the form of 
older customers. 


Opportunity: increased online selling, which will attract 
new, young customers.   


Threat: economic uncertainty, together with growth in 
national chain retailers 


Accept any other valid point. 


2 2.1 4 


(b) Using the information above, suggest and explain 
three possible internal economies of scale which 
Specsavers could benefit from.


Award 1 mark for each valid suggestion (maximum 3 
marks) 
Award 1 mark for each valid explanation (maximum 3 
marks) 


Indicative content: 
Financial economy of scale – Specsavers will benefit from 
cheaper loans from banks, due to them having more 
assets to secure the loans against. A lower interest rate 
on loans is likely to be granted to Specsavers because of 
their large-scale. 


Purchasing economy of scale – Specsavers will benefit 
from being able to purchase frames and lenses at a 
cheaper unit cost from suppliers, because they will be 
placing large orders. Suppliers will value large orders from 
Specsavers, thus may be willing to make price and 
delivery concessions.


Marketing economy of scale – Specsavers will benefit 
from spending on advertising/promotional materials, as 
they have a number of outlets – which means every 
pound spent on promotion has more of an impact. 


Managerial economy of scale – Specsavers will be able to 
hire specialist managers. All else equal, these will make 
better decisions, which will reduce average unit costs.  


Accept any other valid point. 


1 1.4 6 












Q.2



Sticky Note

The candidate has taken notice of the instruction ‘from the above information’ contained in the question and has been duly awarded 4 marks.  The loyal customer base being the strength identified, the lack of younger customers being the weakness identified, the growth in national chain retailers being the threat identified and the opportunity identified being online selling phrased as ‘…to create a website’.













Sticky Note

It was not possible to award any marks for this candidate response.   Largely as the candidate has not identified either a strength or weakness of Bright Eyes Ltd’s or market threat or opportunity.

















A correct strength, weakness, opportunity and threat in the form of prevailing economic uncertainty has 
been identified by the candidate.  Hence the maximum of 4 marks have been awarded.  Candidate has used 
the information provided about Bright Eyes Ltd to good effect. 












8


08 © WJEC CBAC Ltd. (4513UD0-1)


         Alan wants to make sure that Bright Eyes Ltd survives and prospers in spite of economic
uncertainty, a rise in online selling and a growth in national chain retailers. Alan needs to
ensure that he keeps existing loyal and older-aged customers happy, but is also conscious that
the business needs to move with the times and so he feels under pressure to modernise it in
order to attract new, younger customers.


Q.2 (a) Identify, from the above information, a possible strength, weakness, opportunity and
threat (SWOT) to Bright Eyes Ltd. [4]


There are a number of costs which Alan’s competitor, Specsavers, has to pay in order to keep 
its business running. These include:


•	 interest payments on loans (such as to expand the business/open new outlets) 
•	 purchases of glasses (frames and lenses) 
•	 spending on advertising and promotional materials
•	 spending on staff (wages and salaries)


(b)	 Using the information above, suggest and explain three possible internal economies of 
scale which Specsavers could benefit from. [6]












Q.












Q.
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LEVEL 3 BUSINESS - UNIT 3 


SUMMER 2023 MARK SCHEME 


Section A 


Question Answer LO AO Mark 


1. B 1 1.2 1 


2. B 1 1.4 1 


3. D 1 1.3 1 


4. A 1 1.3 1 


Q.5. Describe the purpose of a mission statement. 


Award 1 mark for each valid point 


Indicative content: 
Mission statement is a general summary of the aims and 
values of the organisation. It tends to focus upon the 
present operations of the organisation. It memorably 
communicates why the organisation exists to stakeholders 
– employees, suppliers and customers, say.


Accept any other valid point. 


1 1.1 2 












Q.


1



Sticky Note

Candidate has been awarded 1 mark out of a possible 2 marks. The response content that a mission statement is a ‘decloration [sic] of what the business will offer it’s [sic] customers’ has some merit.  It is a vague way of communicating that a mission statement communicates the purpose of a business.  The response content that a mission statement makes clear ‘the aim and objective to the audience’ has some merit too, namely the referencing of the ‘aim’.  However, the referencing of ‘objective’ show insecure understanding on the part of the candidate, for a mission statement does not have targets in the form of objectives.












Q.


Candidate has been awarded 1 mark out of a possible 2 marks.  On the basis that the candidate response 
reference ‘aims’ – meaning 1 valid point has been made.












Q.


This candidate has received benefit of the doubt for the response penned. The response content of ‘…helps the business to stay on 
track and meet their aims and objectives…’ demonstrates partial understanding of mission statement.  As a rule, objectives do not 
form part of the mission statement of a business.
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4.	 The cost of training new staff to work in Bright Eyes Ltd will appear in which budget? � [1]


Tick (√) one box only.


A	 Human Resources 


B	 Marketing and promotion 


C	 Purchasing


D	 Capital expenditure


Q.5.Bright Eyes Ltd’s mission statement is: “to deliver a friendly and high-quality service which
provides customers with eyewear that meets their individual needs.”


Describe the purpose of a mission statement. [2]


6.	 Alan understands that making a profit is one of the most important aims of businesses.
Bright Eyes Ltd calculated the following revenue and gross profit figures for 2020 and 2021:


Year Sales Revenue (£) Gross Profit (£)


2020 500000 250 000


2021 550 000 130 000


(a)	 State and explain, with appropriate examples for Bright Eyes Ltd, the difference 
between profit and profitability. [4]


(4513UD0-1)
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